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Bc/Bs-603

2020
( 6th Semester )

COMMERCE
Paper : BC-603

( Business Statistics )

( PART : A—OBJECTIVE )

( Marks : 25)
The figures in the margin indicate full marks for the questions

Answer all questions

1. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

(a) Statistics can
(i) prove anything ( )
(ii) disapprove anything ( )

(iii) neither prove nor disapprove anything, is
just a tool ( )

(iv) None of the above ( )
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(2)

(b) Data are generally obtained from
(i) primary sources ( )
(ii) secondary sources ( )
(iii) both primary and secondary sources (

(iv) None of the above ( )

(c) The coefficient of correlation

(i) can be less than 1 ( )
(i) can be more than 1 ( )
(iii) varies between +1 ( )
(iv) None of the above ( )

(d) Probable error is

(i) 006745 SE ()
(i) 0-6457 SE ()
(i) 06753 SE ()
(iv) 06547 SE ()
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(3)

(e) The best average in the construction of index
numbers is

(i) median ( )
(i) geometric mean ( )
(iii) mode ( )

(iv) arithmetic mean ( )

(f) Laspeyres’index is based on

(i) base year quantities ( )
(i) current year quantities ( )
(iii) Both (i) and (ii) ( )
(iv) average of current and base year ( )

(g) In forecasting

() only future course of events is

important ( )

(i) only past is important ( )

(iii) neither future nor past is
important ( )

(iv) both future and past are
important ( )
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(4)

(h) A time series consists of data arranged

(i) in ascending order ( )
(ii) in descending order ( )
(iii) chronologically ( )

(iv) None of the above ( )

() Non-sampling errors include

(i) bias ( )

(ii) mistakes ( )
(iii) both bias and mistakes ( )
(iv) None of the above ( )

() If an event cannot take place, the probability will

be

() +1 ()

(i) -1 ()

(i) O ()

(iv) None of the above ()
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(S)

2. Indicate whether the following statements are True or
False by putting a Tick (v) mark in the brackets
provided : 1x5=5

(a) Sampling errors are present both in a census as
well as a sample survey.

True ( ) False ( )

(b) Arithmetic Mean is always the best measure of
central tendency.

True ( ) False ( )

(c) Fisher’s ideal index is known as the ideal
formula for construction of index numbers.

True ( ) False ( )

(d) Qualitative methods of forecasting are more
commonly used in practice as compared to the
quantitative method.

True ( ) False ( )

(e) Probability derived from past experience is called
empirical probability.

True ( ) False ( )
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(6)

3. Write short notes on any five of the following : 2x5=10

(a) Random Sampling
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(7))

(b) Empirical Relationship between Mean, Median
and Mode
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(8)

(c) Standard Error
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(9)

(d) Splicing
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(10)

(e) Conditional Probability
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(11)

(f) Forecasting
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(12

(g) Base Shifting
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